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Clear Response:

Question Number : 1 Question Id : 5447341281 Display Question Number : Yes Is Question
Mandatory : No

LetA=1{1,23,4,5,6 } Number of functions ‘f* from 4 to 4 such that f(m) + f(n) =7

wheneverm+n=171s

A={1,2,3,456} 63 mn rosodm +n =7 eond@ f(m) + f(n) = 7 el
A Rk A 0 [ Havoire R0

Options :
1. % 223

, » 216
5 % 200

4 % 729

Question Number : 2 Question Id : 5447341282 Display Question Number : Yes Is Question

Mandatory : No
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Let A be the set of all 3 X 3 scalar matrices with real entries. If f: 4 — R is defined by f(m) =
det(m) Vm € 4. then ‘[’ is

TR DoP[LY APUSLIT (10 Dogr| ATrGEY S 4 T & f1A-R& f(m) =
det(m) V'm € A e Q60N 0y *f* e

Options :

(One — one but not onto
€99 S500 57 VoIRDB0 TG

Onto but not one — one
RofRH0 T OIS T°E)

Bijective

&5639;;113
3.

Neither one — one nor onto
32}55;1&3, oD Tokr 57

Question Number : 3 Question Id : 5447341283 Display Question Number : Yes Is Question
Mandatory : No

| _ 10 =g
The nverse of the function vy = — 8
| 10" + 10
10— 10"
e ——- HA0ITAS. DS HAADLAD VE?

Options :

1l 1+x
7 log,0 (755)
1.#2 1 =%
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Question Number : 4 Question Id : 5447341284 Display Question Number : Yes Is Question
Mandatory : No

Foralln €N, (n+ 24)(n + 25)(n + 26)(n + 27) is divisible by
1€ N o (n -+ 24)(n +25)(n + 26)(n + 27) &3 o & Ao

Options :
1. % 27

26
5 % 29

24

Question Number : 5 Question Id : 5447341285 Display Question Number : Yes Is Question
Mandatory : No
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If A and B are two square matrices with det A = 5 and det (BT.AT) = —15. then det B 1s equal to

A 208080 B 093 w806 Sr@gen. detA = 5 SoBosw det (B'.A") = —15 eoowd detB dewd

Options :

1.% 3

2. ¢ —3

Question Number : 6 Question Id : 5447341286 Display Question Number : Yes Is Question

Mandatory : No

i 0 0
A =10 k k—1|thenA +A, + -+ A =
| S | k

1 0 0

A =10 k k—1|owoawd A, +4A, ++4,,=
0 k-1 k

Options :

1 % 200

, x40

3. %

400
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Question Number : 7 Question Id : 5447341287 Display Question Number : Yes Is Question
Mandatory : No

=X X 2
The values of “x” for which the givenmatnix | 2 1 —x | will be non-singular are
5 =21 =2
% B 2
¥ —x | 930 Foron Aras eond, X7 2end dod?
S
Options :
1 % =g w2

For all x other than 2 and —2
5 2 0803 —2 e St ‘x’ a8, e::-:);l Qensen

Question Number : 8 Question Id : 5447341288 Display Question Number : Yes Is Question
Mandatory : No
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If a, b, ¢ are real numbers such that a® + b% + ¢2 — ab — be — ac < 0. then

(a—bF1)° e B2 =g
a1 pl (h—c+42)? B _gB |=
g15 _ p1s B — 17 (c—q43)!

a® +b*+c* —ab — be — ac < 0 & a,b, ¢ TS VoD GO
(a—b+1)° b —¢’ c?—a’
a1 (h—c+2)? BB |=

) B —=e?  (g—g+3

Options :

1w 2abc

2.

24 abc

4 24

Question Number : 9 Question Id : 5447341289 Display Question Number : Yes Is Question
Mandatory : No

X ¥ , ;
Ifa= . = & ¢ = —— where x ,¥, z are not all zero, then what 15 the value of
y-z g & x-y
ab+bc+ca=?
e W, x y Z
x,y,zmwﬁ')lma"lm?é@ma: , s &c=—wowdab+bc+ca=
Y-z =X x=y
Options :
1.% 0
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Question Number : 10 Question Id : 5447341290 Display Question Number : Yes Is Question
Mandatory : No

Define f:C — R by f(z) = |z| V z € C. Then which of the following is false?
f:€ = R 20035y Vz € C,f(2) = |z] m SRR & S0 T80 26 BRGI0

Options:

1 % f=2)=fg) ¥z L
, % f(Z)=f@) vzeC
3 % fiz')= (:f(zj)z Vz€C

f(zlz-l-zj):f(zf)—l—f(zg) V2,23 €EC

4. &

Question Number : 11 Question Id : 5447341291 Display Question Number : Yes Is Question
Mandatory : No
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2

35
The value Gf,[ $#8. (i) } 18

1

2

{522 e (%)35 } Densd doch?

Options :

i
1.¢ <t

Question Number : 12 Question Id : 5447341292 Display Question Number : Yes Is Question
Mandatory : No

o : n
If n is a positive integer. then ('l + iu’S) + ('l == hﬁ) —

— T1 P |
n s 6 PTosd. (1+iV3) +(1-iV3) =

Options :
I

n—1
2 cos—
1. % .

Tt nim
2 cos—
2. % 3

A+l ni
2 cos &

3. ¢

4. %
AP EAPCET 2021
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I ni
2 cos?

Question Number : 13 Question Id : 5447341293 Display Question Number : Yes Is Question
Mandatory : No

“1° _in A
Let 1, 0, " be the cube roots of unity, What is the value of (1 —  + @ = (1+0-w 1) =7

5 4
Lw,0* 63D ‘1'dwg), 208000g8, (1- w+ 0™) -2(1+ 0= 0™) devd Jod?

Options :

1 —6tw

64 w
—64 L

64 w1

Question Number : 14 Question Id : 5447341294 Display Question Number : Yes Is Question
Mandatory : No

Let m and n be two integers such that 0 = m = 10 and 0 = n = 10. Then the number of

ordered pairs (m, n) such that x2 + mx + n = 0 has real roots is

0<m=10 800 0 < n < 10 dohdros S'ae &od m,n T 0T VD X +mx+
n =0 I doreren Goker (m,n) 0000 D)

Options :
71

1. %
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Question Number : 15 Question Id : 5447341295 Display Question Number : Yes Is Question
Mandatory : No

The solution of the equation 2x° — x% — 22x — 24 = 0 when two of the roots are in the ration 3 : 4 is
2% — 1% = 22x — 24 = 0 ddg6e Aurerod’ Bocdy areren 3 : 4 A8’ ol & Aureren 3D

Options :

Question Number : 16 Question Id : 5447341296 Display Question Number : Yes Is Question
Mandatory : No
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If the roots of the equation x* — ax? + bx — ¢ = 0 are in H.P. then the mean of the roots is

22 —ax? 4 bx — ¢ = 0 HDEGEFIS Sareren HP o° dob). Aarere Ho70d

Options :
a

1 8 3€

Question Number : 17 Question Id : 5447341297 Display Question Number : Yes Is Question
Mandatory : No

Ifx® + px + 1 1s a factor of ax® + bx + c, then

ax® 4+ bx 4 ¢ € 1% + px + 1 28 S SEFosHANS,

Options :
2 2 _
L x @ +¢° =—ab
2 2
, x @ —C¢ = ab

3¢n2—czzub
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Question Number : 18 Question Id : 5447341298 Display Question Number : Yes Is Question

Mandatory : No
The value of ?Pg =3 (EPE) 1s equal to
7

P; — 3 (°Py) Densdd 2araodd

Options:

Question Number : 19 Question Id : 5447341299 Display Question Number : Yes Is Question
Mandatory : No

The number of ways m which ‘n” distinct objects can be put mto two different boxes 1s

Gote) DO D DHY, N’ DG HRVPVR D) GEAVRVTT oty

Options :

[ 8 Pz

2n
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n
3w 02

4w nn—1)(n—2)

Question Number : 20 Question Id : 5447341300 Display Question Number : Yes Is Question
Mandatory : No

A student has to answer 10 out of 13 questions 11 an examination. The number of ways i
which he can answer if he must answer atleast 3 of the first five questions 1s

28 HB5E” g 3@52 13 930810 88 D8rErdo TLITR. 2068 5 HB) 0 Aol
€D%a0 3 Stugiotar Qwdaw 10 ;;%1053 RAFT T T°OAY JTT Fooaaﬁ

Options:
1. % 376

, v 276

5 % 286

4 % 386

Question Number : 21 Question Id : 5447341301 Display Question Number : Yes Is Question
Mandatory : No

¢ x __ Bx+cC i A
(1+x2)(3—2x)  14+x2  3-2x

. then ‘C" 1s

X Bx+C A
— = =k ead ‘7 Jend
XY 32X 1+x i
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Options :

2

Question Number : 22 Question Id : 5447341302 Display Question Number : Yes Is Question
Mandatory : No

: : m .
In a triangle ABC. suppose none on the angles are multiples of o then what 1s the value

cotAcotB +cotBeotC +cotdcotC =

Soae’ D a8, Sndw, % g, Aoeadian S¢S cotd cot B + cot B oot £ +

cotAcot( &end

Options :

1.8 @

AP EAPCET 2021
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Question Number : 23 Question Id : 5447341303 Display Question Number : Yes Is Question
Mandatory : No

~ 1800 - = .
Ifa= = then 3 sina — 4 sin® @ is equal to

180°

&

= 29008 3sina — 4sin? @ L DIATFIDIH

Options:

_— cos 4o

> sin 4a

Question Number : 24 Question Id : 5447341304 Display Question Number : Yes Is Question
Mandatory : No

The larger of cos(log 8) and log(cos 8) ife ™? < 8 < /2 is
e ™2 < 0 < /2 a0d cos(logf) 208030 log(cos §) we° DA 2E67?
Options:

P cos(log @)

5 log(cos @)
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Nomne of function 1s larger

2 HDROD&T PGS 5
3. % &

One of the two function is undefined on domain even to compare

. 00K, 28 DI0CDIW BDND PEFAV DE(oTRIETED
4,

Question Number : 25 Question Id : 5447341305 Display Question Number : Yes Is Question
Mandatory : No

Which of the following expression is always true?

&1 308 donEees” DA Daadwn?

Options :

X

coshx —1
cosh— = |————
Z

2

X 2 sinh x
tanh ? = —

5 % coshx +1
- (.x*) _ sinh x
sinh|— ] = — :
- 2 J2(coshx +1)
s (x) _ sinh x
sinh|— | = — :
4w 2 V2(coshax — 1)

Question Number : 26 Question Id : 5447341306 Display Question Number : Yes Is Question
Mandatory : No
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In any A ABC. b?sin2C + c?sinB =
ABC &z02206° b?sin2C + ¢?sinB =

Options :
1.% A

, % 24

3A

4A

Question Number : 27 Question Id : 5447341307 Display Question Number : Yes Is Question
Mandatory : No

Number of triangles m which tan A + tan B + tan C = cot A + cot B + cot C is
Sz2r8 tand +tanB +tan € = cot 4 + cot B + cot € woia5w GoG SFFY Ro)f
Options :

1

1. %

Infinite
5 % ©Rodo
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Question Number : 28 Question Id : 5447341308 Display Question Number : Yes Is Question
Mandatory : No

If PQ + QR = (24> —5)RP then A =
PQ +QR =(24*—~5)RP eond A=
Options :

g i |

1.%

I+
5
3]

|+
3
L

Question Number : 29 Question Id : 5447341309 Display Question Number : Yes Is Question
Mandatory : No

If °C” 15 the nudpoint of line segment AB and ‘P’ is any point not on the line AB. then
AB B ot P €7 206 Dotdd). AB By G BT Doy ‘P’ o,

Options :

PA+PB+PC =0

, « PA+PBE+2PC =0

3 ¢ PA—PC=PC —PB

, « PA+PE—PC=0

AP EAPCET 2021
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Question Number : 30 Question Id : 5447341310 Display Question Number : Yes Is Question
Mandatory : No

. . T 5 M
If °6" 1s the angle between the unit vectors a and b . then Slll; 1s equal to

v - .6
@ 2000w b D alarES Rb% H¢) Endw ‘6 wand, SIN = 8 AFIHO

Options :

—F

oy

b
b

a+

Question Number : 31 Question Id : 5447341311 Display Question Number : Yes Is Question
Mandatory : No

The vector a lies in the plane of vectors b and ¢, then

D 208050 T & S0ANST T w8 DO eond

Options:
25 &

1. %

AP EAPCET 2021
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abcl=br<c

L w | ]
abzl=0

L l@re]

L [@ b T]=-1

Question Number : 32 Question Id : 5447341312 Display Question Number : Yes Is Question
Mandatory : No

a and b are unit vectors such that @ + 2b is also a unit vector. If  is the angle between @

and b . then sin 6 + cos® 8 + tan® § =

T+ 2D oD HO eaber b e 05ares HB%e0 208050 T, b © 06 S 6

o0 sinf + cos® @ + tan®f =

Options :

’I.*33

Question Number : 33 Question Id : 5447341313 Display Question Number : Yes Is Question
Mandatory : No
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Ifa,b,c are non-zero vectorssuch@ X b =c andb X ¢ =a.thena X ¢ is

—

T,h,T &3 S8 969, T X b =7 Sbatw b X7 =7 eabpinet T X T 63

Options :

Equal to b

| x bSR3

Parallel to F
b € AT oSS0
2.

Perpendicular to b

3 % b 2 weoerdw

Parallel to a

4% a £ AAToSAL

Question Number : 34 Question Id : 5447341314 Display Question Number : Yes Is Question
Mandatory : No

Consider the vectors

u=ai+bj+ckyv= i+ b2j +lkw=a'i+ bgj + k. These vectors are coplanar if
and only if

w=ai+bj+ckv=di+hy+ctkw=a’ i+ +ck od wbdewn wodair
ST Vo)
Options :

All a, b and ¢ are equal

_— a, b 2080330 ¢ L0 DIATIDD

AP EAPCET 2021
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One of a, b and ¢ 15 zero
a, b S08ai0 ¢ 05 DE 288 BP0 MR

Any two of a, b and ¢ are equal
a, b S08030 ¢ ©&5° VDT Tokd HDATHIW

Either one of a, b and ¢ is zero. or any two of a, b and ¢ are equal
a, b, c 085" 2,88 BP0 570 OO DT Tt RAFHIN 71 DT

Question Number : 35 Question Id : 5447341315 Display Question Number : Yes Is Question
Mandatory : No

The mean marks of 25 boys m a class 1s 61 and the mean marks of 35 girls i the same class 1s

58. Then the mean of all 60 students 1s

28 3610 200d 25 98T 000) ;‘)J“mbv wosmcﬁgm;ﬁm 61, s0dain 35 200l w;ﬁrécmu
S0 © osEIR0 58 and & 6rd &' 20w Swégw ©90S:063[:000

Options:
| % 56.25

, » 59.25

5 x 57.25

63.25

Question Number : 36 Question Id : 5447341316 Display Question Number : Yes Is Question
Mandatory : No
AP EAPCET 2021
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The arithmetic mean of five natural numbers 1s 40. The largest exceeds the smallest number by 10.

If « 15 the maxinum possible value for the largest of these 5 numbers, then the number of positive
integral divisors of & 13
5 R o[V Bos MG 40. & ‘f’comﬁwe‘f (523 Do s:r.@; P03 Sot) 10 Q). &

:aoaalgm‘i“ 8¢ :ch "rooa;lg =S rié:é{ es::s"?wal ’.-ooapé (B0 @ 5 1L G rusY ’&0&)5

Options :

, n 32

, » 10

Question Number : 37 Question Id : 5447341317 Display Question Number : Yes Is Question
Mandatory : No

Three numbers are chosen at random without replacement from theset A ={x €Z[2<x <

11}. The probability that the minimum of choosen numbers is 3 and maximum is 7 is

QRT3 8ot A = {x €2 2 < x < 11} 03 2D Aot ¢ Rod{en
Dmg_ﬁ" aa:;;gm, &3 :o-::m}gveﬁ“ s:)zém 3 obasn 7 ﬁ&:ﬁ.;z :oo.spé woﬁ:somaﬁ mmp doch?

Options :
1

| % 30

1

AP EAPCET 2021
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Question Number : 38 Question Id : 5447341318 Display Question Number
Mandatory : No

If A and B are two events with P(4 U B) = 0.65 and P(B) = 0.2. Then the value of P( A ) + P( Bt ) is

A S0B0kw B 03 Bocdy 000> P(4 U B) = 0.65 208050 P(B) = 0.2 wawd, P( 40 ) + P(B')
el dods?
Options :

0.85

1. %

, % 0.9

3 o L5

4% 11

Question Number : 39 Question Id : 5447341319 Display Question Number
Mandatory : No

One ticket is selected at random from 50 tickets numbered 00, 01,02, ......49. The probability

that sum of the digits 15 10. given that product of the digits 1s 9 is

00,01, 02, ... ...49 89 50800 50 ﬁé&)@.ﬂn Aot 28 58 JothE ot, &5 8356 2 w05V
uarg;m 9 oY, & R}omﬁu 20830 10 568 moe;ﬂaéefs Jodh?

AP EAPCET 2021
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Options :
9
1. % 10
1
2.% 4
1
3.v 2
2
4 % 25

Question Number : 40 Question Id : 5447341320 Display Question Number : Yes Is Question
Mandatory : No

A ofie-rupee coin. a two-rupee coitl. a five coin and a ten-rupee coin are tossed simultaneously.

Then the expected value of the sum of the values of comns that show heads up 1s

1 drara, 2 drdrafen, 5 drdraiey, 10 6rdrahe TeHane) Trenfetdd a8 30
DDODINY Y 65" 00 DE TEINL 0TS BT e

Options :

1.% 8
2. % 7

5 % 10

AP EAPCET 2021
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Question Number : 41 Question Id : 5447341321 Display Question Number : Yes Is Question
Mandatory : No

The equation of the locus of a point which is equidistant from the points (2,3) and (4,5) is:

(2,3) 208080 (4,5) Dodod)v DAFS Ardels dod Dodad) DoBodBaw

Options :

1 % x+y=0
,x Xty=4
3.J.¥+}'=?

Question Number : 42 Question Id : 5447341322 Display Question Number : Yes Is Question
Mandatory : No

The equation obtained by transforming x* + y* — 6x + 10y — 2 = 0 to the paralle] axis
through (3,-5) 15

2w DotrdHad (3,-5) & 78y Dredd B8 DG dadrre 36:)6 ArAR) OFY cﬁég’é

x? 4y = 6x 4 10y - 2 = 0 ciog), ¢85 dradan

Options :
;2 2
1 %8 X Fpt =10
2 2
2.8 X HYT=9

AP EAPCET 2021
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Question Number : 43 Question Id : 5447341323 Display Question Number : Yes Is Question
Mandatory : No

If a point (a, a) falls between the lines [x + v| = 4. then

lx + v]| = 4 200t Bo 06 (a,a) Dot &ot) QYD

Options :

o lal=2
2w lal =3

3 % la| < 2

4 % lal <3

Question Number : 44 Question Id : 5447341324 Display Question Number : Yes Is Question
Mandatory : No

If the straight lines 2x —y + 1=10.4x+ vy +2 =0 and x + y — k = 0 are concurrent. then
'k equals

20—yv+1=0.4x+y+2=020000x+y -k =0 o 26¢3pwn 05w wond,
‘k dend

Options:

AP EAPCET 2021
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m||—a

5
4. 2

Question Number : 45 Question Id : 5447341325 Display Question Number : Yes Is Question
Mandatory : No

Find the value(s) of ‘k’ such that the distance between the two parallel lines represented by
(x — 2y)? + k(x — 2y) = 0 is 3 units.

(x = 2v)% + k(x — 2y) = 0 Bocd PArosd ol AR R) AR D068 Groaw 3
03 e wowd, k'’ Dund(w)

Options :

1.% 0

Question Number : 46 Question Id : 5447341326 Display Question Number : Yes Is Question

Mandatory : No
AP EAPCET 2021
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In an isosceles triangle ABC. the coordinates of vertices B and € of the base BC are (3 ,2) and
(2,3) respectively, If the equation of the line AB is 3y = 2x. then the equation of the line AC

15

ABC &R 8 DBErTv Szbaand’ #rd BC axs), DAG B. € v AdFd5en S
(3,2) 208050 (2, 3). Zoaam AB 2drg6eaw 3y = 2x ©and, AC HOLEdHA

Options :

1 2y = 3x
2. % LV =X

3 % rEy=4
4 % 2x—=yp=1

Question Number : 47 Question Id : 5447341327 Display Question Number : Yes Is Question
Mandatory : No

If 4x% — 5xy + y% = 0 represents a pair of lines with slopes m; and m,. then the value of
|my — m,| equals

4x? — 5xy + % = 0 2E0RA0 Ardodd TpO Teen m; . m, ) VoS, [my — m,

Qend

Options :

1.331

AP EAPCET 2021
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Question Number : 48 Question Id : 5447341328 Display Question Number : Yes Is Question
Mandatory : No

The three lines given by the combined equation v® — 4x%y = 0 represents

v =4’y = 0 &3 Rootwr RDSBERAD Ao ARE) DEVIDN

Options :

the sides of an isosceles triangle
245 mmagwm SZoRo CEJJSEJ EASE L)

the sides of a right-angled triangle
28 LorS't GzdRo VS, HoLD

the sides of an equilateral triangle
2,8 RETTVY BZo2o cﬁn&‘% Zoen

concurrent lines
e9RLNS Gaen

Question Number : 49 Question Id : 5447341329 Display Question Number : Yes Is Question
Mandatory : No

The angle between the lines ab(x® — y?) + (a®> — b*)xy = 01s
ab(x? — v + (a® — bH)xy = 0 2rdoedd Boo 206 Eeashn

Options :

AP EAPCET 2021
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Question Number : 50 Question Id : 5447341330 Display Question Number : Yes Is Question
Mandatory : No

Ifthe lines 4x + 3y —1=0,x —y+ 5= 0and kx + 5y — 3 = 0 are concurrent then k =

4x +3y—-1=0,x—y+5=0 200080 kx + 5y — 3 = 0 3pen edvng ey vand k =

Options :

Question Number : 51 Question Id : 5447341331 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021
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If (6,—k) and (=3, 2) are conjugate points with respect to circle ¥ + y? + 6x + 4y + 12 =
0. then °k’ equals

1 +y% 461 +4y+12 = 0 9538 (6,~k) 2dao (-3 ,2) DochiHen Hoatorf
Dotia)en owd, ‘k’ Jed

Options:
=y
1. % *
7
2.v *
4
3. 7
—4
4.% 7

Question Number : 52 Question Id : 5447341332 Display Question Number
Mandatory : No

If the parametric values of two points A. B on the cirele x? + y? — 6x + 4y — 12 = 0 are 30°
and 90° respectively. then the equation of chord AB is

X2 477 — 61 44y — 12 = 0 5,080 ol 4. B Dotoidye) HT-Dodiash Devde T 30°
S0bai 90° 8, 4B 27§ oRvsems0

Options :

L% X+ V3y =0

e x—VBy =0

AP EAPCET 2021
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Lo Xt V3y—3(1+vV3) =0

4% \V3x + x-“rgj-' +61=20

Question Number : 53 Question Id : 5447341333 Display Question Number : Yes Is Question
Mandatory : No

The length of the chord intercepted by the cirele x* + y* — 8x — 2y — 8 = 0 on the line x +
y+1=0i1s umits.
X4y +1= 00068 1%+ y7 — 8x — 2y — 8 = 0 380 6,08 wod6DotSw T

sV Sh NI

Options :

% 14

Question Number : 54 Question Id : 5447341334 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021
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The length of the chord joining points (4 cos 8,4 sinf) and [4 cos(# + 60%),4 sin(f + 60°)]
on the circle x* + y* = 16 i

t+yt =16 Sy Ha (4cosf,4sinfl) odasw [4cos(f + 60°),4sin(f + 60°)]
Dodoprd 00 7 T

Options :

v 4

Question Number : 55 Question Id : 5447341335 Display Question Number : Yes Is Question
Mandatory : No

If the coordinates of the ends of a focal chord of the parabola x* = 4ay are (x; ,y;) and (x5, v,).
then

1% = day HTHAIS (L w8 T & QIR0 (xy,yy) 20805 (xz,y,) ONS, Yy

Options :

1 % Y1Y2 = 4a’

L V172 = —4a?

YiVz = —@
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; i
4. ViyY, = d

Question Number : 56 Question Id : 5447341336 Display Question Number : Yes Is Question
Mandatory : No

The center of ellipse x% + 2y? —4x + 12y + 14 = 0 is
x% 4 2y% — 4x 4 12y + 14 = 0 &G2y3:00 cig), Soghadd

Options :

Lo (2,-3)

Lx 2.6

Question Number : 57 Question Id : 5447341337 Display Question Number : Yes Is Question
Mandatory : No

If in a hyperbola. the distance between the foc11s 10 and transverse axis has length 8. then the
length of its latus rectum 15

28 ONITHVATASE THHY ;ﬁac:35 Grdaw 10 Hobadw eﬁdﬁé B0 TED) 8 vand, T
Dot TED)

Options:
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Question Number : 58 Question Id : 5447341338 Display Question Number : Yes Is Question
Mandatory : No

If the origin is the centroid of the triangle for which (—2,3,4) and (3,-1,5) are two
vertices, then the third vertex is

(—2,3,4) Soboiw (3,-1,5) &0 Botdd %‘g“m L 28 GZ02 So@rdw Aredetd)
owd. T Sars 3¢

Options:

- (1,2,9)

5 % (-1,-2,9)
2 » 25
4 (-1,-2,-9)

Question Number : 59 Question Id : 5447341339 Display Question Number : Yes Is Question
Mandatory : No
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If the line joining the points (k,2,3 )and (1,1,2) 1s parallel to the line joining the points
(5,4,-1)and (3,2,-3). then the value of k =

(k,2,3) 200050 (1,1,2) Dectopus 69 pow 8y (5,4,—-1) batw (3,2,-3)
Dotoyudd 89 HEY Tk PATBEINT &o, k Ded

Options :

1.*1

2.¢ 2

Question Number : 60 Question Id : 5447341340 Display Question Number : Yes Is Question
Mandatory : No

The angle between any two diagonals of a cube 1s

2053065°D DB Bocdd SleiI Rt S

Options :
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Question Number : 61 Question Id : 5447341341 Display Question Number : Yes Is Question
Mandatory : No

The plane passing through the points (1,1,1).(1,-1,1)and (-7,-3,-5) is

(1,1,1).(1,-1,1) S80d0 (-7,-3,-5) Decoe ot ok deo
Options :

Parallel to x-axis
1 % 1-e9FP DS AT oSG0

Parallel to y-axis
- V-95P0S DaATroddaan

Parallel to z-axis

. Z-e9%PS RAT oG8

4% 3x—4z—1=20

Question Number : 62 Question Id : 5447341342 Display Question Number : Yes Is Question
Mandatory : No

_ sin ax
lim =
xr—p\tan bx

Options :
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Question Number : 63 Question Id : 5447341343 Display Question Number : Yes Is Question
Mandatory : No

; (Sin—l{j:r + 3_})
lim —

o (=3) x2 4+ 3x

Options :

Question Number : 64 Question Id : 5447341344 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

1+x 1

log (1+x) . .
e M 0 1s continuous at x = 0. then
X X

If the function defined by f(x) =
6/(0)

_log(l +x}l+x

fl) =22 —%.xiogmomam:oagamﬂmm.ef(o):

X
Options :

1.332

Question Number : 65 Question Id : 5447341345 Display Question Number : Yes Is Question
Mandatory : No

I dy
It y= cos(x®). z = cosx then— =
x
. dy
y = cos(x%). 2 = cosx SoNB —=
' dax
Options :
—iT

— sin(x®) cosec x
- 180

. sin(x?) cosec x

T :
— sin(x”) cosecx

3 180
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s ]
— cos(x”) cosx
4 % 180

Question Number : 66 Question Id : 5447341346 Display Question Number : Yes Is Question
Mandatory : No

e dy oI
If v = Cos Y(cosx) then find— at x = —
dx 4

] 5 i
y = Cos Y(cosx) e@ond, x = 2T 55 =L Dens
4 @ dx

Options :
1

2. v —1

Question Number : 67 Question Id : 5447341347 Display Question Number : Yes Is Question
Mandatory : No

1 - I'— — I| dy d
i y =Sin 1 [.x'-vl —x —yx-V1— :{zi and 0 < x < 1. thend—is equal to
X

o T F= d
y=Sin * [wl —x —Vx-V1—x?| Ho8ain 0 < x < 1 wond. d_y =
X
Options:
1. ®
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1 1

2V 1—x2 xV1—x2

1 + 1

3 % 2Vx—x% © V1-x2
—. 1

4 % Vi—=x?2  xv1—x2

Question Number : 68 Question Id : 5447341348 Display Question Number : Yes Is Question
Mandatory : No

] a ——— dy
v = JJ.: fx 5 ST oo | then —=
y \| ‘I‘y +x- + T

& T s,
W= x Al X -'__}C ++++++ 5 S —
) v v Y i
Options :

1
1.8 Y

1
2. % X

1

Z2x—1
3_%-5
4, &
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Question Number : 69 Question Id : 5447341349 Display Question Number : Yes Is Question

Mandatory : No

2

If two curves x = y%. xv = a® cut each other orthogonally at a point. then a® =

x =y ay = a° 93 STWAEEEASED VR Dototides. a Dend

Options :
1
1.% 3

mln—a

Question Number : 70 Question Id : 5447341350 Display Question Number : Yes Is Question
Mandatory : No

. i : 1 .
A particle moves along a straight line according to the law s = ?ﬁ —3t2 4+ 9t + 17. where ‘s

is in meter and °t” 1s in second. Its velocity decreases in

1
s == = 31 + 9t + 17 Arg) o005 ug £t 0ov Swp sbYed. ¢ D
RS Er. 57 A hmges‘mv S0508. &5 S0 DA @aﬁf’mmm@é ‘ Desden

Options:
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« 0<t<5h

Question Number : 71 Question Id : 5447341351 Display Question Number : Yes Is Question
Mandatory : No

20

Find the absolute maximum of x*® — x2% on the interval [0, 1].

[0, 1] eoa38ae5° +*° — x%? & e DB (A0 Dewd

Options :
—1

1. % *

Question Number : 72 Question Id : 5447341352 Display Question Number : Yes Is Question
Mandatory : No
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The maximum area of a rectangle that can be formed with a fixed perimeter of 20 umits is
8. Lnits

20 adard ?gd tﬁ)%a;}.?gn o8 (o &gz:jmﬂ.@“wﬁ“ d&@ Q?e.:ém (e &gamcgm aos),
DTV WEGY) CrALY.
Options :

% 30

2.v %3

3. % 20

« 15

Question Number : 73 Question Id : 5447341353 Display Question Number : Yes Is Question
Mandatory : No

If f(x) = x° — 5x* + 52 — 10 has its local maxima and minimaat x =aand x = b
respectively. then 2a + b =

x=a0wx=>5 bg flx) =x°—5x* +5x% - 10 g":)s ﬁ&fﬁ SVlalon iV g»:ns S.;'Ja;q
Qenden 897 o, 2a + b =
Options :

1.3
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Question Number : 74 Question Id : 5447341354 Display Question Number : Yes Is Question
Mandatory : No

dx

(sinx){(cosx) =

Options :
- log |sinx| + ¢
5 log |cosx| + ¢

3. ¥ log |tanx| + ¢

log |cosecx| + ¢

Question Number : 75 Question Id : 5447341355 Display Question Number : Yes Is Question
Mandatory : No

i [ g, log |sin(x) — 2 cos(x)| + k ,
jm x = x +alog |sin(x) — 2 cos(x)| + k ,then a =

dx = x + alog|sin(x) — 2 cos(x)| + k ®@00d,a =

" 5tan(x)
J tan(x) — 2
Options :

1. % -1
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Question Number : 76 Question Id : 5447341356 Display Question Number : Yes Is Question
Mandatory : No

2x+3 5
If : P . d = ,tl "'Lk f b _
Jf‘i(ﬂ‘ Dx+2)E+)+1 T ax? +bx+c+g Tenysmett By e

= ————+a oowd,ath+c=

' 2143 J =
J x4+ D) +2)x+3)+1 YT fhrte

Options :

6
4. %

Question Number : 77 Question Id : 5447341357 Display Question Number : Yes Is Question
Mandatory : No

2cosx + 3sinx 23 .
j ol x+klogl4cosx+5sinx|+¢ ,thenk=__

4cosx +5sinx

"22051‘+35i11x'd 23 + klogl4 +5sinx| + 3
x=|—|x+klogl4cosx +5sinx|+c ®owad k=_
J 4cosx +5sinx 41 8 :
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Options :
2

| w41

Question Number : 78 Question Id : 5447341358 Display Question Number : Yes Is Question
Mandatory : No
b b
3 ) 2 -
H | x0dx=0 and Al ) T then
a a
b b

i 2
J:L'3dx:0mﬁoim fxzd.x:? 29003
i1 i1

Options :

g.=—1 & h=%
1.4
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a=—2 & b=2

Question Number : 79 Question Id : 5447341359 Display Question Number : Yes Is Question
Mandatory : No

If the area of the region enclosed by the curve x% + y* = 16 and the lines x = 2 and x = 3 is

(3-«;’7 — 43— 93_:: E k) sq.units, then k" equals

o +y* = 16 58w 30805 x = 2, x = 3 060 200s] D80k HAHY PTUGY

(3-v’7 -43- BB—H + k) 63,0508 0w, ‘b dewsd

Options :

3
16 Sin~1 (—)
4

1. %

Question Number : 80 Question Id : 5447341360 Display Question Number : Yes Is Question
Mandatory : No
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Solve the following Differential equation.

208 9ALOD DEVECETIE FED BeVLHAW.

d
(x2+1) d_}’ + 4xy =
x

x2+1

Options :

e S e A
- y(x 1) x+c

s e S
5 @ vix*+1)*=x+¢

o 432 _ 2 .
- vix*+ 1) =x"+¢

e R .
4% (x 1) =x“+c¢

Physics

Section Id : 54473426
Section Number: 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 81 Question Id : 5447341361 Display Question Number : Yes Is Question
Mandatory : No
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When two resistors of resistances R; = (200 + 2) Q and R, = (400 + 4) Q are connected in

series. the equivalent resistance of the combination 1s

S0t DBessw aog), Aeren Ry = (200 £ 2) 0 &Baio R, = (400 £ 4) O wo 33"
connddd. D Hodirraw Gwg), 998 essw ewsd

Options:
1% (800+7)Q

5 % (600 £ 2) @

., (600£6)Q

4« (200£2)Q

Question Number : 82 Question Id : 5447341362 Display Question Number : Yes Is Question
Mandatory : No

Two towns A and B are connected by a regular bus service with a bus leaving in either direction every
T minutes. A man cycling with a speed of 20 kmph from A to B notices that a bus travelling m the
direction of his motion goes past him every 18 minutes and every 6 minutes he notices a bus travelling
in the opposite direction go past him. Assuming that the busses travel with a constant speed. find T and

the constant speed of the buses.

Ood Dben A obow B v #00) 98 T AN Botd BIG DA LODLGORED 0T
8608 T R, A K0oid B & 20 kmph S6S 28  Hosredord &I, 03X A
B30 90 18 S wg L0y B8, HBTE B3V’ 9 6 DTV 18 Ly TRI3E.
drer .;55;‘)7895‘ G0ty 6% WAL 6] FOIHAB T 2000w WR0NY ;‘gé 36 dodd?

Options :
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2
— hr & 38 kmph
27

5
=y hr & 40 kmph

3
— hr & 40 kmph
3 20

2
?hr & 28 kmph

Question Number : 83 Question Id : 5447341363 Display Question Number : Yes Is Question
Mandatory : No

A ball 15 thrown at 30° with horizontal from the top of roof 20 m high with a speed of
13 m.s L. At what distance from the throwing point will the ball, once again be at a height of

20 m from the ground? (g = 10 m.s™?)

Zraod 20 m oM &) Fco P ol HRVDA $82 VAFdTAS 30° Eod 13m.s™
&9 Sod HAIrAOTTE. B 27 Aol 20 m A BN BON BT, DBE Fo
008 Jodh Ardeds Gotwod? (g=10m.s™2)

Options :
1 % 10.2m

. 14.6m

L % 186m
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98m

Question Number : 84 Question Id : 5447341364 Display Question Number : Yes Is Question
Mandatory : No

When a vehicle of mass m 1s moving with a velocity v over a concave over-bridge, of radius of

curvature 7. the thrust on the road at the lowest point on the bridge will be

T 8T aﬂéaﬂgo 5DA% 28 YIPSE JeBRD M BI(0°3 (1R W8 TR v St
DO, & 308 LBDeEY 3¢ HIBE LY

Options :
muv*
mg +
1. %
mu?
mg —
2. % ¥
m2p2g
3.8 T
vig
4.% T

Question Number : 85 Question Id : 5447341365 Display Question Number : Yes Is Question
Mandatory : No
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Block ‘A’ of mass 100 kg 1s kept above another

block ‘B” of mass 300 kg. “A’ 1s tied to the wall *C’ /
with a horizontal string. The coefficient of friction ¢
between ‘A’ and ‘B” 1s 0.35 and that between ‘B’

and the horizontal surface is 0.5. Find the horizontal (7
force P, necessary to move the block ‘B’

100 kg Q:ﬁ}gﬂ“i‘ ) c?:&fné ‘A", 300 kg ga5m9 0 08's &;‘)Jé B a0 edy8. ‘A &;53&

£33 PArods 86 ‘L v Fadh Ségm& oo @. ‘A sbalw B’ v :\'JJQS 2086
(HEasAn 0.35 B0 ‘B § S0A0I0 e 0.5. Qo) B SROEEAS V0N L8
Narodd ewdw P

Options :

. % 1150 N

, » 1250 N

3 ¢ 2350 N

4 % 1420 N

Question Number : 86 Question Id : 5447341366 Display Question Number : Yes Is Question
Mandatory : No

Two bodies having masses in the ratio 2 ¢ 3 fall freely under gravity from heights which are n

the ratio 9 : 16. The ratio of their linear momenta on touching the ground 1s

Goty SRR EI(o0en 2 : 3 ;QBE &) ow. 8D 91 16 3" o Ao Aol
By S0t DEBOT) o, EAL VN ) N T8 8Dad gaé;armu A3

Options :
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1% 239

2. %

3.¢

4 % 3:2

Question Number : 87 Question Id : 5447341367 Display Question Number : Yes Is Question
Mandatory : No

1

A body of mass 0.15 kg moving with a velocity of 15 m.s™" comes fo rest when it huts a

spring that is fixed at another end. If the force constant of the spring is 1500 N.m ™, the

compression in the spring is

0.15 kg $3{0°3 o 520 15 m.s ™! Sid posredod, 08¢ 32 Dosada 2oy
¢ED NEND 3{3@&3" 8 2o, D)ofh G0E), L0 HTes 1500 N.m™. 5yfd° ¢dA%

Hontdo

Options :

1 ¢ 0.15m

5 % 0.1m

3 % 0.2m

4 % 0.5m
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Question Number : 88 Question Id : 5447341368 Display Question Number : Yes Is Question
Mandatory : No

What 1s the nature of the graph between momentum of a body and its kinetic energy?
WS DY 8, gb}géﬁ;ﬁm Sobain BP0 T RT3 Daoe)?

Options :
Straight line
ROYoD

Parabola
Folopbelilovtlubl

Circle
SyEhS0

Ellipse

L x B8 B8

Question Number : 89 Question Id : 5447341369 Display Question Number : Yes Is Question
Mandatory : No

A particle slides down along an inclined plane AC, If the A
plane is frictionless, kinetic energy of particle at ‘C” 1s = N

y
25 50330 Te0 VAN Mol Sot%) P, dVAW

B
20662 60008 €’ Dothdy) 3G Seao A0G), 1S3 B
Q @ = X C

Qodh?
Options:
1 ¢ Mgy
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mgx

y
mg (sin E-')

3. %

" mg (cnj; E)

4,

Question Number : 90 Question Id : 5447341370 Display Question Number : Yes Is Question
Mandatory : No

A uniform disc of radius ‘a” and mass ‘m’ is rotating freely with an angular speed of ‘w’ ma
horizontal plane about a smooth fixed vertical axis passing through its center. A particle, also of
mass ‘m’ 1s suddenly attached to the rim of the disc and starts to rotate with it. The new angular

speed of this system 1

‘a’ 353“3;5.13 ‘m’ G303 90D ws HTed DY) ‘w' § Faah DS 0 vAreds
B030p D B0k oot el D 6 e o B SANDAS. ‘M
@5(0°3 o) Sea:00 A O, WS E‘.‘JS%";&;\JW eddostd, TS Fbn FvmEe
51008, BaS S350 0g) §18 Sedoh 3¢
Options:
]

1.¢ 3
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m|€

Question Number : 91 Question Id : 5447341371 Display Question Number : Yes Is Question
Mandatory : No
The moment of iertia of a thin rod of mass ‘M and length °L" about an axis passing through a

point at a distance - from its center and perpendicular to its length is

L
W 3. L Ty 8B 8 ) & o), Socto Aol — 808’ &3) Dotoy
(ot 'S0 Vs LM 26 ePavso

Options :
M3
1. % 48

ML2
2 % 48

ML?
12

7ML2
4w 48

Question Number : 92 Question Id : 5447341372 Display Question Number : Yes Is Question
Mandatory : No
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The torque due to a force F=3i- 27 — k actingatapoint T =81 +27 +3kis
wwoF =37 —2] — k 00d8 w8 Doy 7 =81 +2] +3% Dois HIdawce s0d
g)ﬁbdﬁ‘) Q'FSZ;

Options :

|« —AU=10] Bk

o A +17] - 22%

2

, » Bi=17] +22k
T 1Yy =22k

4, %

Question Number : 93 Question Id : 5447341373 Display Question Number : Yes Is Question
Mandatory : No
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Match the following entries in column-I and column-IT with respect to an oscillating spring-block system:

AP EAPCET 2021

Column-I

Column-II

(a) Mass of the block is doubled

(1) Energy of oscillation becomes 4 times

(b) Spring constant is made 4 times

(1) Speed of block becomes 2 times

(c) Amplitude of oscillations is doubled

(111) P.E. becomes 4 times

(d) Angular frequency is doubled

(iv) Time period becomes V2 times

SRR BROR) Mofi- iy, HBHE Rowodotdid 20cie IS’ BT Tolsd QNG

BoTVS 23 Boed

S8R-1

280 -1I

(a) B0) A8), B2 oo B

(1) Sodare $3 4 O D

(0) o oS 4 00 B3

(i) G S 2 B

(¢) Sodar Eod HODS By BY

(ii1) NG %8 4 Bl e

(d) Erdos> iy oory 69

(iv) Eomand o V2 Burbd

Options :

, » Ca—iii),(b—ii),(c—i),(d—iv)

. (a—iv),(b—i),(ec—iii), (d—ii)

- (a—ii),(b—iii),{c—iv),(d—1i)

4..

Question Number : 94 Question Id : 5447341374 Display Question Number : Yes Is Question

Mandatory : No

(a—iv),(b—iii),(e—ii),(d—1i)
o
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A particle of mass 0.4 kg executes simple harmonic motion of amplitude 0.4 m, When it

passes through the mean position. its kinetic energy is 256 X 107% J. If the initial phase of the

oscillation 1 T then the equation of its motion i

0.4 kg G030 Seaitnd 0.4 m S0 HODD (f0 VO¥ IPTE)E DR BB, &8
Srad Ar(RS TR0 (Do YOIrEeDIYE T (1348 256 X 107 J. Ewddw cws),

59 &% % oo o HE5mI
Options:

T
x = 0.4sin ({0.4) t+ —)

1. % 4
x = 0:2sin (Z\E + (%) t)
2. ®
T
x = 0.8sin ([foz_)r + ?)
3. %
T
x = 0.4sin ((2@ t+ I)
4.

Question Number : 95 Question Id : 5447341375 Display Question Number : Yes Is Question
Mandatory : No
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A spherical shell is cut mto two pieces along a chord as shown in the

figure. ‘P’ 1s a point on the plane of the chord. The gravitational field @

at ‘P due to the upper part is I; and that due to the lower part is ;.
What s the relation between them? —* =

006" Bro DG 28 HYse6 e 28 VEF3D Dot
208) QoI £BotsdNB. ‘P’ b &) Qg dodwd” w8
Dotday). e Bt A e se8ter P’ Do) :‘dg
D0YGD DS ETen SO [ L e eand

Options :
| % L =1

L« b>h

3.0 =5

No definite relation
. T8 m:;&s S0 MotiodidA)) Gokdd

Question Number : 96 Question Id : 5447341376 Display Question Number : Yes Is Question
Mandatory : No

N— : g I
Work done 1n raising a body of mass ‘m’ from the surface of the earth to a height e

. (Where R is radius of earth, M is mass of the earth and G is gravitational constant)

R
m GIT 0 SR FrD A, GOSN — AN SRS Dy
BNV D . (R - &rd aﬂéﬁgqﬁn, M - #rd Qbéc"%h G- 33%5
(OET(E6E NT0E30)
Q §

Options :
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GMm
4R

4GMm

3GMm
4R

GMm
3R

Question Number : 97 Question Id : 5447341377 Display Question Number : Yes Is Question
Mandatory : No

When a spiral spring 1s stretched by suspending a load with it. the strain produced is called

strati.

w8 HDHErs6 Yo TR JTEANNDE, V)obe” $BA D53 D6?

Options :

Volume
“ a0 0

Shearing

5 @ DTS

Transverse

- @dgé
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Longitudinal

wmQ%

Question Number : 98 Question Id : 5447341378 Display Question Number : Yes Is Question
Mandatory : No

The flow rate of water from a tap of diameter 1.25 cm is 3 litres per minute, If coefficient of

viscosity of water is 107 Pa.s. the nature of flow is

1.25 om o SDAD Sowrow FRw Aodt A6 S 3L 53 HIPRY 6.
OR8], ) (e (Drasen 1073 Pa. s ©0ond & Harran

Options :

Unsteady

_— QUEEGTS DI ITAD

Turbulent

o8I DT TN
2. 5

Streamlined

3 % &0 037 DTTIPAD

Laminar
 QUSE DoTIEAD
4. ®

Question Number : 99 Question Id : 5447341379 Display Question Number : Yes Is Question
Mandatory : No
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A cylindrical tank 1s filled with water to a level of 3 m. A hole s opened at a height of 52.5 cm from
the bottom. The ratio of the area of the hole to that of the cross-sectional area of the tank 1s 0.1. The

square of the speed with which water will be coming out from the orifice is (g=10m.s7%)

28 rg:ﬂb“s"d §9 NS Im 08300 68 S8 Dohedse. S e0drh P R0od 525 cm
8" O) Gogn BONERE. bog TS, TG 206516 FTLA o Ay 0.1. ogetw

Aot WOHLS) ;b{S() M 5 aws), ag;m (g=10m.s7}

Options:
2 -2
| 50 m*-.s

> % 40 m?.s"

; 2 =2
_— 15 m .5

n 50.5 m?.s72

Question Number : 100 Question Id : 5447341380 Display Question Number : Yes Is Question
Mandatory : No

A beaker is filled completely with water at 4 °C . Identify the incorrect statement:

28 DS 4°C 26 ABE LPBm JoDwADB. & $ob TS WO,

Options :

Water overflows when heated above 4 °C

L, 4°C 8T D8y D DASHIDED Q> T A0

Water overflows when cooled below 4 °C

| 4°C So8 Be D SYBEDBHE D> TR
2.
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Water overflows either when heated above 4 °C or cooled below 4 °C

3 % 4°C 5377 JJSJE’;ﬁ 0Baiw 4 °C 577 859 O VOV DK ﬁ“gﬁﬁ:@m

Water will not overflow when cooled below 4 °C

4°C €7\ BEYN I &N DA T
4 oF ), B ah T it Y ad) )

Question Number : 101 Question Id : 5447341381 Display Question Number : Yes Is Question
Mandatory : No

A wall has two layers A and B, each made of different matertals. Both layers are of same thickness. But.
the thermal conductivity of material A is twice that of B. If. in the steady state. the temperature difference

across the wall 1s 24 °C. then the temperature difference across the layer B is:

28 B Boch Tdew A 28050 B &) . 28 2}5&&5 3 :Jwg“vS S0ird) Hoh LA, ot
den 28 Doddnd &) . o) :mogm A cfmsb aga":ﬁé B 50 G0t Béw &)s‘%b. QUSE
fge‘.’éﬁ‘ eo0d, Ad eodtr e%ﬁgw £350 24 °C, &t B TG w0t agﬁfj@“ e[S dod?

Options :
1.% 8%

, % 12°C
3 v 16°C
4 % 20°C

Question Number : 102 Question Id : 5447341382 Display Question Number : Yes Is Question

Mandatory : No
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Which of the following. in general. is a slow process?
& S0& T°eS5° Q20L& and Do DE?

Options :
Isothermal

PATHGE HeaD
| gg.ti =S

Adiabatic
2ERS DEaw

Isobaric
DBED HEOD

Isochoric
D6 D0ODHBAT ;1%&13
4, % @

Question Number : 103 Question Id : 5447341383 Display Question Number : Yes Is Question
Mandatory : No

AW = 0 for the process
AW = 0 eocdy HS00

Options :
Isobaric

| P DEDS DHSoBH

Isochoric
> R0 0HDBATR Do
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Isothermal

A e doe HEoD
3. % e

Adiabatic

' SIRCRELEE

Question Number : 104 Question Id : 5447341384 Display Question Number : Yes Is Question
Mandatory : No

A given system undergoes a change m which the work done by the system equals the decrease

 its internal energy. The system must have undergone an

AP I3 G &':ded, B 350 515 B T €0dds 6D dbrwd
70, & 3% S\ B O'B)A00?

Options :

Isothermal change
D0 &gﬁﬁw 0760

Adiabatic change

- g&gs S20°C0y

Isobaric change
RIDODED SBoCdy

Isochoric change
R DODDBATES 2T°CY

Question Number : 105 Question Id : 5447341385 Display Question Number : Yes Is Question
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Mandatory : No
Molar specific heat at constant pressure Cp is related to mternal energy U and absolute

temperature T as Cp =

386 HEd3D ;ﬁtg arerd Qggﬁf_&m Cp . wo@g@ %‘é U 8030 DO &gﬁ@ T S o
oo (p =

Options :

dal
dar

au
daT

4 x UXT

Question Number : 106 Question Id : 5447341386 Display Question Number : Yes Is Question
Mandatory : No

Speed of a sound in air

mes® GG D

Options:

1s independent of temperature

&X' 3 STEDE
1. %

mcreases with pressure

- PEDADSE DA
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increases with increase in humidity

e30h G0 DERISAA
3. @

decreases with increase in humidity

e30h G0 SIS
4. % @ L

Question Number : 107 Question Id : 5447341387 Display Question Number : Yes Is Question
Mandatory : No

A thin lens of refractive index 1.5 has optical power of —5 Diopter in air. Its optical power in a

liquid medium with refractive mdex 1.6 1s Diopter

15 58259 dnsR) $90% 8 Huxsd sugan mds’ -5 cairps Fard) €08
&3) 6. eand 1.6 3855 dongan ¢BAS w¢ §338° & Sugo g, 30830 dos?

Options :

1.¢ 1

Question Number : 108 Question Id : 5447341388 Display Question Number : Yes Is Question
Mandatory : No
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The ratio of maximum and minimum intensities in an interference patternis 36: 1, The ratio of

the amplitude of the two mterfering waves will be

556561':3 ngﬁ%‘.m&'? riaa’én 0Bain S:)KE.;{ 1) a0s), DIQD@ 36:1, ©00a bé@é&oﬁ
60T 003 Hiahhow :)fq;)eg

Options:

3334:7’

4 7:5

Question Number : 109 Question Id : 5447341389 Display Question Number : Yes Is Question
Mandatory : No

Two insulated charged metallic spheres ‘P and ‘Q” of negligible radii have their centres separated by a

distance of 60 cm. The mutual force of electrostatic repulsion if the charge on each is 6 X 107 Cis L

P 0Bk 0" 1 Dot §'erR B33S Nvren B8 m&&g;ﬁn 98 8 Somren 60 cm
Groa0S b dobed G 0. 8 893 6 X 1077 € wand, f&?d 3@56 R DL

Options :

-3
1.#,9><1l} N

|
, % 25x107°N

—4
3 % 52x 10 "N
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9x 10 °N

Question Number : 110 Question Id : 5447341390 Display Question Number : Yes Is Question
Mandatory : No

Two capacitors each having a capacitance 2 X 107° F and a breakdown voltage 5000 V., are joined

in series, What will be the resultant capacitance and the breakdown voltage of the combination”

2X107¢F éé‘;’dﬁbb £DAD Bocky ST mtb e Fede" Rordaw Sabheaddd. & 18, &
NG SGE 5000 V. DB HoF Ao TS T6 DO 5005y 0008w Sy ITE

VIS o I

Options :
. AX 107 F & 1,000V

v 107°F & 10,000V

2

3 % 2x107%F & 5,000V
-6

4 % 107°*F & 2,500V

Question Number : 111 Question Id : 5447341391 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

A silver wire of length 3 m and of cross-sectional area 6.14 X 10™® m? carries a current of 6 4.
Atomic weight and density of silver are 108 and 10500 kg.m > respectively. A silver atom

contributes one free electron for conduction, Avogadro number 1s 6.023 X 10% / mole. Drift

velocity of electrons in silver is, close to

3m Te, 6.14 X 107 m” 2cBe TR 28 Dot & 6 4 DGR
DIPODBRV0B. Dok AR08, HEATED LB 0B Fogden HERT 108 SBakw
10500 kg.m™>. 28 Dol HOATEY HTTF0 Eo w8 DTy WSO @B, WITE
%oa 6.023 X 10% / mole. Do QTS g, 62 3w Ar8rcrr Jod?

Options :

1 % 10 ms™?

10 *ms™1

Question Number : 112 Question Id : 5447341392 Display Question Number : Yes Is Question
Mandatory : No

A coil wrapped around toroid has inner radius of 20 em and an outer radius of 25 cm . If the
wite wrapping makes 800 turns and carries a current of 124, The maximum and minimum
values of the magnetic field with in the toroid are

20 cm 00 J‘Pgm, 25 cm erey J’l@“g:m DA% 2,8 S'oand P 28 Britow
mgg&&b&. & b aig), o) 'r';)On“:‘Jé 800 20800 @A) Mot Hdarodd 36&)505 124 wond
GTaE 600 S0l BOLV) 0 FB50 dINE), (183 BaL I Do SERIT

Options :
AP EAPCET 2021
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1@ 9.6 mT, 7.68mT

4mT, 2.5 mT
2. %

3 % 7mT, 5.6 mT

6.6 mT, 3.3 mT
4, ®

Question Number : 113 Question Id : 5447341393 Display Question Number : Yes Is Question
Mandatory : No

Two circular coils 1 and 2 are made from the same wire. The radius of the 1¥ coil is twice

that of the second coil. What is the ratio of potential difference apphed across them % so that

2
the magnetic field at their centers 15 the same?

28 81 oc, SIFEBODECS Totd HHTSE AMROD) ). THES" A Brithoty d0e),
mébvgm: GotiderAS 8ory. T8 Somre I¢ A6\E Lo 0d ETRN DAFDHA

V.
S8, TP ot TEIDES Sore Aind ?1 DO ol ?
2

Options :

1.333
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Question Number : 114 Question Id : 5447341394 Display Question Number : Yes Is Question
Mandatory : No

A copper rod 15 moved in a magnetic field. The charge developed across its ends will be
proportional to

28 T 84 28 o) o8 E8a08° BDodTTE. 46 Dot §d0 065[ 30 B &30
B8 S ArTE0S Got)

Options :

Magnetic flux
90T 0 DTIro

1. %

Rate of change of magnetic flux

e T 0es” 0760y Bew
2. ¥

1/ velocity of the rod

/€& BE), Deidw
3. % =

1/ magnitude of the magnetic field
1/ e900J7) 088 ES00 A0E), DOHTEIHW

Question Number : 115 Question Id : 5447341395 Display Question Number : Yes Is Question
Mandatory : No

The self-inductance of two coils of a transformer 1s 20 mH and 30 mH. What is the resistance
between them?

w8 HBHESAD &' Bothd b ado 206 20 mH 08080 30 mH. ¢ mc,ﬁs QG20 dodh?

Options :

AP EAPCET 2021



AP EAPCET 2021

Infinite

4 eraochail)

Question Number : 116 Question Id : 5447341396 Display Question Number : Yes Is Question
Mandatory : No

A transformer works on the principle of

DBDHGEDL DA Bt ATrdhD

Options:
Self-induction
[SINeb el

Electrical mertia
Kﬁc:i.)?gei 2EB000

Mutual induction

e (A( DB
R b

Magnetic effect of electric current

) DS HI"To VL), 0 08 2erdo
4,
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Question Number : 117 Question Id : 5447341397 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following is the property of a monochromatic, plane electromagnetic wave in free space?

?asm"l)oawm:zﬁé w8 Dgag, s 336335(2’)0‘.535"&093 Sdorin o8], (68w & $0d TS 06?

Options:
Electric and magnetic fields have a phase difference of %

- 3.}553595, E!Cﬁ.).a‘%c@ Eoro o6y 5= BT BB Gotod

The energy contributions of both electric and magnetic fields are equal

3)553595, ﬂro‘i}ﬂ‘%u@ ET0 HOD 3 DAE DIAT DAV S0t
2.9 = =518

The direction of propagation is in the direction of B X E

- B X E 8%5° d6off DG H%F &t

The pressure exerted by the wave is the product of its speed and energy density
doridn B dennBabed HEddw, ood aR08), D HBodn 33 Fogde U%Jﬂbé

4 % AT RN &0

Question Number : 118 Question Id : 5447341398 Display Question Number : Yes Is Question
Mandatory : No

When a light of wavelength 4900 A falls on a photosensitive metal. a negative 2 V potential is
required to stop the emitted electrons. Then the work function of the material is nearly . Given

charge on electron = 1.602 X 107 € and Planck's constant = 6.625 X 107%* J.s

4900 4 Soripg S0 500 a8 T8 fors) v iriid DY, A
0865 De3 2V o 60 DG g 5 R0 (08 0resian=6.625 X
107 .5, Qg 53830 1602 X 107 ()
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Options :
1.% L1leV

5 % 2.2eV

3 ¥ 0.53 eV

4 % 1eV

Question Number : 119 Question Id : 5447341399 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): The impact parameter for scattering of a- particles by 180° is zero.

Reason (R): Zero impact parameter means that the a-particles tend to hit the center of the nucleus.
NS (A): esery SETed 180°5° HBZ0:A0 BodS wDHre Hoead AT

580 (R): @dird Hoeabd ROT) BT B ST Soggan os), m¢5 e;wn":)i ¢
S8 Habd) Jaw

Options :

Both A and R are true and R 1s a correct explanation for A
A 508030 R Godor RBODAD. 08030 R 0996 A & 2B D56

Both A and R are true but R is not a correct explanation for A
A 58050 R Gotir 28D, DR 038 A & DBADD DHGe S°E

A 1s true, R 1s false
A 2BEDHO, 0 R %8 5760

4. %
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A 1s false. R 13 true
A 28 5260 570 R 280058

Question Number : 120 Question Id : 5447341400 Display Question Number : Yes Is Question
Mandatory : No

The current gain for a transistor working as common-base amplifier is 0.96. If the emitter current

15 7.2 mA. then the base current 15

ﬁ:uéd 0 )0 sEswm DDANER) 28 EPAR0 abog) P wraaw 0.96. e
E)c:’né@ 7.2mA vand smd ilm?gé

Options :
1@ 0.29 mA
5 % 0.35 mA4
3 % 0.39 mA
4 % 10 mA

Chemistry
Section Id : 54473427
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
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Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 121 Question Id : 5447341401 Display Question Number : Yes Is Question
Mandatory : No

The shortest wavelength in hydrogen spectrum 1s approximately
TEED e DOAS” 3 BE),D @don%w R

Options:
121 nm

1. %

5 91.2 nm

182 nm

4 % 89.2 nm

Question Number : 122 Question Id : 5447341402 Display Question Number : Yes Is Question
Mandatory : No

The ratio of de-Broghe wavelength of two particles A and B 1s 2+ 1. If the velocities of A and B are

0.05 m.s~* and 0.02 m. s ™%, respectively. then the ratio of their masses m, ¢ mp must be

A 0b0dw B sero l‘i&f@ édoﬁég"ﬁv :}5.'13@ 201, A 208050 B £ o 2rren SHa
0.05 m.s™* ddosw 0.02 m.s™* eawd, T8 G300 G my i My

Options :
1% 931

L 10:1
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3.+ 1+5h

4 % 1:8

Question Number : 123 Question Id : 5447341403 Display Question Number : Yes Is Question
Mandatory : No

If the maximum kinetic energy of photoelectrons ejected from a metal surface when it is

irradiated with a radiation of frequency 4 X 10™* s™ 15 6.63 x 107%° J. then the threshold

frequency of the metal 1s

28 &' d0rd) 4% 10™ 57 T o eI MHBHAHT JW0SEN Tod T
(0% 8238 6.63 X 107" w0, & 8 6oz FRYIE

Options :

2x 107!

. i (%
; 14 —1
3_\_/3><10 s
14 —1
g

1x10

Question Number : 124 Question Id : 5447341404 Display Question Number : Yes Is Question
Mandatory : No
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Which element belongs to the family of elements. that also includes element Gallium?

god 2uresed mdabd &) 6rd & do Jrussw J67

Options:
Carbon

?5&5

Aluminum

e::szﬁb.ﬂ)a:ﬁa;ﬁm
2.

Iron
QRIS

Arsenic
ess :}:Ig

Question Number : 125 Question Id : 5447341405 Display Question Number : Yes Is Question
Mandatory : No

Which of the following element, has the highest number of unpaired electrons in its ground state?

EAVS g‘weﬁ‘ GR) ), BE[BS 20 (FED QTS W (200028 dug"den) fiod

Options :
1 & Mn

\#, Cr
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Fe

Question Number : 126 Question Id : 5447341406 Display Question Number : Yes Is Question
Mandatory : No

In the modern periodic table. the acidic nature of oxides

360IE 5GD DHSS” 3TV &35 VDAL

Options :

Increases from left to right and decreases from top to bottom

DE0 oW LIEDINS DO B0 D Wod. SodS Brd.
1.¢

Decreases from right to left and mncreases from top to bottom

. S3€. o) DEDVINS ejt;bm 080320 D Aol S0HS DADA.
2.

Remains same across a pertod and increases from top to bottom
. 3360:’13@? 90T RWETROTT &odda), SuBaiL 22 Aol SodS DBMD.

Decreases from left to right and remains the same down the group

n DS Do) LEDIN SRV 2000k (rDS° eodtr RAFDIT SotdMD.

Question Number : 127 Question Id : 5447341407 Display Question Number : Yes Is Question
Mandatory : No

The dominant intermolecular force that must be overcome to convert liquid methanol to its

vapour is

DESS T & &rﬂhdyﬁoﬁ'aé SN RE) STl HIL AT S0 Wod0

SRV (T5°) o ©rVEIOETL) J)’
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Options :

Covalent Bonds
AR LomEen

Dipole-Dipole Interactions
E(GyR-B(GHD DORVNG LoD

Hydrogen Bonds
& wotren

Coordinate Bonds
:fa:uctngoia AT Al 36!

Question Number : 128 Question Id : 5447341408 Display Question Number : Yes Is Question
Mandatory : No
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Match the following ions with the corresponding hybridization of their central atoms?

Tons Hybridization
i) NO; (a) sp?
i) NH, ) s
(i) SCN~ (c) spid
(i) ICL, (d) sp?

o) DOATLY) Po8BEG0 c.’)@gfg 808 eoir TS SR DoiEdned BdBotuaw?

€908 e 20884680
0 N @ s
(i) NH, ®) sp
(i) SCN (¢ spid
(iv) ICl, (d) sp?

Options :

{i—d), (ii—a), (3ii—1b), (iv—=c)

1. %

(i—c), (ii—b), (iii—a), (iv—-d)

2. %
3 % (i—a), (1—d), (iii—c), (iv—Db)
4. ® (i—b), (ii—c), (dii—d), (iv—a)

Question Number : 129 Question Id : 5447341409 Display Question Number : Yes Is Question
Mandatory : No
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If an element in group 2 formed a compound with an element in group 17 of the periodic table,

the compound formed 1s likely to

8303 ;’Jegée‘i& 1P 2 &'t Qaregaw, (17 17 Sressnd wg "coé.}évb;fm DGDGQRS&. &3
’a&évém

Options :

conduct electricity i the solid state
20" DS HICAN Bobod

have a low boiling point

- B80S AN BDD gua:m (D000 adgs) £9A oo

dissolve in non-polar solvents
DELS Tracwwes” S

be a crystalline solid

203 D\ BEB0TT G0t
4. ¢

Question Number : 130 Question Id : 5447341410 Display Question Number : Yes Is Question
Mandatory : No

At what temperature will the total kinetic energy of 0.30 moles of He be same as the total
kinetic energy of 0.40 moles of Ar at 400 K?

D 608 56 0.30 JrSv He aivg), Awdo (1043, 400 K 36 040 arde Ar g,
A0 (B238S DATOT GotaR0?

Options :

|« 400K
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300 K

;% 273K

4 v 533K

Question Number : 131 Question Id : 5447341411 Display Question Number : Yes Is Question
Mandatory : No

A gas deviates most from 1deal behavior when it is subjected to

e.-?dég TP050:) PAGN Aol 28 TV LASRM DLW ;.‘:Q WA
Options :

low temperature & high pressure

B8, &G SOBAT0 D) D DEDBN
1. &

high temperature & low pressure
e, e'Ger 20Bo%D BB HESAD

high temperature & high pressure

D80S &TAS 2OBO%N DE)D DEDIW
3. ® e

low temperature & low pressure

B50,0 &V'6S Db By D HEDHAD
4, % H

Question Number : 132 Question Id : 5447341412 Display Question Number : Yes Is Question
Mandatory : No
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If the density of a 5 M solution of KCl is 1.26 g ml™*. then find the molality of the solution.
(Molecular mass of KCl = 74.55 g mol™)

5 M. KCl grdtio Frogidh 1.26 g ml™! & gradeso arerd) Jodd?

(KCl omoddod = 7455 gmol ™)

Options :
1% 0.74 m

> % 1.26 m

745 m

4 3.38 m

Question Number : 133 Question Id : 5447341413 Display Question Number : Yes Is Question
Mandatory : No

Gastric juice contains about 3.0 g of HCl per liter, If a person produces about 2.6 liters of
gastric juice per day, find the number of antacid tablets required to neutralize all the HCI
produced. Consider each antacid tablet contains 400 mg of Al(OH),. Given atomic masses:

Al 5270 216, H 101355

2% Dot 26660 AT 3.0 g © HCL & £DA Gotwed. 28 28 ws B’ 2.6 Desg
2O06F D) &N B, 8 Bard) PO @mfgs&omm ) BTG Srgen
50627 56 BEH ard 400 mg © Al(0H), D A Gotwed. HEST GT-Sow:
Al~27.0 516 ,H-1,Cl-355.

Options:

1.% 8
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5 % 20

3 ¢ 14

10

Question Number : 134 Question Id : 5447341414 Display Question Number : Yes Is Question
Mandatory : No

The boiling point of water at 1 atm 1s 100 °C. Which among the following is true for vaporization of

waterat 75°C7
1 atm H¢d3m 3¢ B ernB gn:::m 100°C. 75°C 3¢ 8 eraBaRAD 2008 D6 Nadw?

Options :

0
o Doy >0

AHyqp < 0
Ripg= 1

AS. .= @

Question Number : 135 Question Id : 5447341415 Display Question Number : Yes Is Question
Mandatory : No
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An ideal gas expanded irreversibly against 10 bar pressure from 20 L to 30 L. Calculate Q if
the process is Isoenthalpic. 1 L. bar = 1001

10 676 © Sedan 36 a8 8et) T 20 L d0d 30 L & FE0ed S, 1 pdad
2T omdy§ (Jorrdyg* 2oy Gek). @ % O 0k (1 L.bar = 1001)

Options :

1. % 0

5 % 1007

—1001J

4 10 kJ

Question Number : 136 Question Id : 5447341416 Display Question Number : Yes Is Question
Mandatory : No

Which of the following species acts as both Bronsted acid and base?

S8 rd0ud” EPARE AL AT BN FEHW MTAF DI BIG AG?

Options :
| % OH

, « NH;

5 » NaCl

HSO,
4. 2
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Question Number : 137 Question Id : 5447341417 Display Question Number : Yes Is Question
Mandatory : No

Which condition among the following holds true at the stage of half-completion for the

reaction 4 = B?

=B 3 wdf Affo 70 B0 $3¢5°, & S08 JoDaTVS” DA D2AW ©9:HBR?

Options :
o
1.%’,&{; ==
>
5 % AGY =0
_ AG® < 0
3. %

. AGS® = —RTIn2

Question Number : 138 Question Id : 5447341418 Display Question Number : Yes Is Question
Mandatory : No

Which of the following metals produces Hydrogen gas on reacting with cold dilute Nitric acid

0 220 AFTed Lrr TERD TP GG Bobiv §ire & B Ardodd
TS 67

Options :
1 % Al

ZﬁFe

3.v Mg
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4$36u

Question Number : 139 Question Id : 5447341419 Display Question Number : Yes Is Question
Mandatory : No

Which of the following pairs of reactions give H, gas as a product upon hydrolysis?

& 8D AFDDD o[ A" Q PAAGE Soir adsen B0 JFI :5656‘5 H,
TOINPRY WE EBYD) oI IGGLY?

Options:

Hy0
a) Ba =y products (&&T) en)

H,0
b) BaO, %pmducts (&3 ew)

H,0
a) Ca e products (&ST) en)

H,0
b) CaH, —— products (&&T)ew)

H,0
a) K —, products (&&4T°) &)

H,0
b) K,O0 L:»prﬁducts (&T) en)

H,0
a) Na — = 4 products (&&yT°) )

H,0
b) Na,0; =, products (&&T™) )

Question Number : 140 Question Id : 5447341420 Display Question Number : Yes Is Question
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Mandatory : No

Boron compounds behave as Lewi’s acids because of thewr

ST D)) TP, LA 25T DO0TLLS) TG0

Options:
electron rich in nature
&Swﬁéarr DVT DL VBSoT £0A eocht) JoDd

electron deficient in nature
:C'f“_sa,rngorF DUFT OV S (e5%10) Db

1onization properties

903D E 6830 IO B0 S0
3. %

proton donating nafure

4w PSR Trdo BAs B0 VD

Question Number : 141 Question Id : 5447341421 Display Question Number : Yes Is Question
Mandatory : No

An inorganic compound (A) made of two most occurring elements in the earth’s crust and used
in building construction when made to react with carbon. forms a poisonous gas(B) which 1s

most stable diatomic molecule, Compound (A) and (B) are

&r dda,ﬁm‘i“ DB 588 Arvsod E)dbm A o ures dFrabd mmémm: EAPS TN
Ay RS’ EHAITADED. TGS & ©96[ 20030 B 93 2,8 IR T 6100
B wdjod ?gc‘@é QGRS VL), A bcko B ?&:;ﬁ:&#mm SEORT

Options:
- 510, ,C0,
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Si0,,C0
. Si0;,N,
Ca0,CoO0,

Question Number : 142 Question Id : 5447341422 Display Question Number : Yes Is Question
Mandatory : No

Which of the following compounds are aromatic?

S0 T°3e5° DB A8 A3 T QD7

oOAQD O

(1) (ii) (iii) (iv) (v)

Options :
(i), (ii) & (iii) only

e @O, (i) & (i) 2rgd

(i), (iii) & (iv) only

- (i), (iii) & (iv) Sra™

(i), (iv) & (v) only

s v @ (v) & () 3rg®
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(iii), (iv) & (v) only

4w (i), (V) & (v) Srgdo

Question Number : 143 Question Id : 5447341423 Display Question Number : Yes Is Question

Mandatory : No

Identify the most suitable reagents (I) and (II) for the following sequence of reactions:

Ho—Ch=0l, 0 oy O, He—CH—Ch,

Br Unsaturated Br

Sof tor| 363 YL SO (1) B08As (IT) S°EF*LR BLVYW.

H,C—CH,—CH, M ) b HC—CH—CH,

Br 508, Br

Options:

(I) = conc.H,S0, (II) - HBr
(I) = ¢t H,80,  (II) — HBr

(1) — aq.KOH (II') — HBr / peroxide

, o (D—220.KOH () - HBr / 5086

(I) — ale. KOH (IT) — HBr / peroxide
(1) — =6.KOH (1) — HBI‘/’E}U“EDEJ

(1) — alc. KOH (II) — HBr

A (I) - =°6.KOH (II) — HBr
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Question Number : 144 Question Id : 5447341424 Display Question Number : Yes Is Question
Mandatory : No

In Kjeldahl's method. organic ‘N’ is estimated as

300 ;’ch@eﬁ" , 663 “eo;ﬁjym:meﬁ% AGRID DOIFETS) S30T ™ 9ot
D0

Options:

Nitrogen
1 % P8R

Ammonia
eI T 03T

Nitric-acid
RES® a0

Nitrogen dioxide
RS g &

Question Number : 145 Question Id : 5447341425 Display Question Number : Yes Is Question
Mandatory : No
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The major product(s) formed in the following reaction sequence is(are):

i) Zn/Cu, A
ii) O3
2, 3-Dibromobutane

b 4
=~

iii) Zn/H,0
& Sod éc&}gﬁ“ f.‘.‘:dbc:.: DED GG 2 / &I\T)

1) Zn/Cu, A

if) 05
2, 3- GeT Area(E3

L 4
N

iif) Zn/H,0

Options:
1 % 2 CH;COOH

, % CH3COCOCH;

5 » 2 CH3CHO

CHO
2 HCHO +
4% CHO

Question Number : 146 Question Id : 5447341426 Display Question Number : Yes Is Question
Mandatory : No

In a mixed oxide of ‘4" and ‘B’. ‘A’ occupies all the octahedral voids while ‘B” occupies

(2/3)™ the tetrahedral voids. The molecular formula of this oxide is

4 SoBain © 3 UE:](E & A ?.‘)Drl @Q&J}ﬂ GoTuAT, ‘B’ (2/3)d Hodd émd)és:)
GoFrodr 5800w, GO, &8 BTG 0I0E) @m@‘d}yf
Options :
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 A3B40;
« A3B;0;
A3BO,

AB, 04

Question Number : 147 Question Id : 5447341427 Display Question Number : Yes Is Question
Mandatory : No

A 25% solution of cane-sugar (mol mass= 342 g mol™?) is isotonic with 5% solution of a

substance A. Then find the molecular weight of A?

25% w80 (wm@a50°% =342 gmol™) gradeo, 5% A & grddo £8H &) 38
Tdned oTrEm &) 6. A dwe) LaETd dod?

Options :

, 6.84 gmol™

- -1
5 ¥ 68.4 g mol

- 25 gmol™!

. 684 g mol ™!

Question Number : 148 Question Id : 5447341428 Display Question Number : Yes Is Question

Mandatory : No
AP EAPCET 2021
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Henrys law constant for 0, in water is 1.67 X 10° Pa. Calculate the approximate quantity of
€0, 11 500 ml of soda water when packed under 5 atm €0, at 298 K.

298 K 3¢ 5 $8A% €0, Q) ooy Rvosw Desd 167 X 10° Pa. e & 3¢
5 atm G308 500 ml JBS" 400D C0, GHTI WATET T8 otdod:

Options:
1 & 3.7.8

L« LB84g

_— 22 4

44 g

Question Number : 149 Question Id : 5447341429 Display Question Number : Yes Is Question
Mandatory : No

A hydrogen electrode 1s made by dipping platinum wire in a solution of nitric acid of pH= 9
and passing hydrogen gas around the platinum wire at 1.2 atm pressure. The oxidation

potential of such an electrode equals V.

pH= 9 rrie graeaod’ Jréido i &od, 86 thiwr 1.2 atm déded PE2S T
DoR)BP, 28 TEAD JEED SUrGHETo. 8 JEE g 88ys6n THIahS Jewsd
V.

Options :

1 % +0.059

, % —0.0531
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5 % —0.059

4 +0.0531

Question Number : 150 Question Id : 5447341430 Display Question Number : Yes Is Question
Mandatory : No

Salts of A. B and C were electrolyzed under identical conditions using the same quantity of
electricity. It was found that when 2.1 g of A was deposited. The weights of B and C deposited
were 2.7 g and 9.6 ¢ respectively. If the atomic mass of A, B and C respectively are 7, 27 and

64. then the valancies of A. B and C respectively are

A (Hddren @::50"9 7), B (H6are Q&ﬁéﬂ"%‘ 27) Sobodn € (Hdaren @.::50“9 64)
VIV 28 DOIBVS” DI 28 bci)?g\e‘.’ogm;’ran &0 Aot DA T (0
@ 2.1 raww 4 ;ﬁ)%dé&:. 93 Dot 2.7 g".;;)e.} B 20bodn 9.6 e € Ddbdrﬁﬁ.
wand A, B H08ain € o dodirasden Sdamr

Options :

| x 1B 2

L o132

Question Number : 151 Question Id : 5447341431 Display Question Number : Yes Is Question
Mandatory : No
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The structures of XeF, and XeF, respectively are

XeF, &08aiw XeF, & :}U“éﬁ“w SRR

Options :

Linear and Square planar

- BDOHAL HOBOID DB BAGDAW

Bent and Square planar
5 % &% f‘l}c“éea;.‘m 00 DoudY BSLTR0

Linear and Tetrahedral

i BHAHIAL 208050 uﬁe‘.’&}d}éa{‘)uﬁ:;ﬁm
3.

Bent and Trigonal pyramidal

. Edah Doy et 2080k BE 0L ArErSTEAw

Question Number : 152 Question Id : 5447341432 Display Question Number : Yes Is Question
Mandatory : No

Which of the following represents the correct order for oxidizing power of the given species -
Cl0, ,BrO; and 10,

Cl0; ,Bro; 0003 10; © Faws’ DB eé\gom F0g 2w DO £036

Options :
1 % Cloy = BrO, = 10,

5 BrOg = 10y = ClOg
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, « 105> Bro; > clog

, « BrOz > Clog > 10;

Question Number : 153 Question Id : 5447341433 Display Question Number : Yes Is Question
Mandatory : No

When Sulphur 15 botled with Na,505. a compound (4) 1s produced. (4) on reaction with
excess AgN 0, solution gives a compound (B). which after dissolving in water produces a
black colored sulphide (€). Identify the compound (4). (B) and (C).

00\6 0 Na,S0; & D¢ Sabr 4 e 1) w0 DO\6DNB. 4 088 AgNO; Tranind
(56 Jold B 090 1) ¥008 R0y, B & DD €MDY € d H0
DEDANR0 W\, 4, B B0k € ) F0e0 ST

Options :
| @ Na,5,05, Ag,5,05, Ag->S

> % NHESD4, Ag25{34, AQES
Na;5;07, AgzS0s, AgaS

3. %

4. % Na,;S05, Ag;50s, Agz50,

Question Number : 154 Question Id : 5447341434 Display Question Number : Yes Is Question
Mandatory : No
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The transition metal in which of the following compound has zero oxidation state?

B DAY FTS” DBIGN S'o £585013 R0 BP0 GONIG B

Options:

- KaCr20

5> % KMnoO,

3 % \CT{JE

4 Fe(CO)s

Question Number : 155 Question Id : 5447341435 Display Question Number : Yes Is Question
Mandatory : No

Among the following options. identify the one which exhibits the greatest number of oxidation states.

408 donswd’ v Arosed’ s e.eé:}saea %mm 2080t PRS0

Options :

1 % Fe
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Question Number : 156 Question Id : 5447341436 Display Question Number : Yes Is Question
Mandatory : No

Identify the condensation product of the following reaction:

R — CHO + NH,O0H ——

808 ©oDDD BOES” GBD) S0 DA?
R — CHO + NH,0H ——

Options :
. R —CH, — NH,

, » R—CH—NH(OH)

4.«R—CH=N—OH

Question Number : 157 Question Id : 5447341437 Display Question Number : Yes Is Question
Mandatory : No

"X’ and °Y" are optically active 1somers having formula C;HqCl . When treated with one mole
of Hy. *X" gets converted to an optically nactive compound ‘Z”. but °Y” gives an optically

active compound ‘P’. The structure of X and ¥ respectively are

CsHyCl eorndrdoyerd tyde Feyssen $u. X , ¥ 0m ws 36 H, & o) akdm X,
Z 03 tydm Tey[go DEB oD A ¥ D6V, SV, P &d dydm Fcsydfedd
gma}oa "fo;ijé#m:)l decﬁé}éé. X, Yo :Jc“éww SR

Options :

1. &
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Cl

Cl

///\/\&/\/ﬁ}\

2. ¢
> ClI

3. % /\/\Cl ) M
V | Cl

4, % /\C‘i/\ : /K/\

Question Number : 158 Question Id : 5447341438 Display Question Number : Yes Is Question
Mandatory : No

Which reaction of ethanol will decolorize bromine water?
RBSS aing) D BO| DS 2erd) DBGHw Batw?

Options :

o 62H50H+HBT—}CEHSB'T+H20

.'.
2C,H.OH ——— C,H — 0 — C,Hs + H,0

> % 413 K
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1
3 “ CEHSOH+NH—}CEHEONG ‘I‘?HEO

H+
CH:0H ———» C,H, + H;0

4. 443 K

Question Number : 159 Question Id : 5447341439 Display Question Number : Yes Is Question
Mandatory : No

The major product of the following reaction is

BHD BODD BO(E” DOy DEFD &y D) 3w

0]
i) LiAIH,
-
i) D,0

Options :
D OH
e
D oD
e
D H
e

AP EAPCET 2021



AP EAPCET 2021

4.v

Question Number : 160 Question Id : 5447341440 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statement 1s false?
&S farf)bé D DSBS Sy ?

Options :

Only tollens reagent can oxide both aliphatic and aromatic aldehydes

- 5’09y 568w ArgD MDFOE 200050 B8 Ares sDirE 0ol 6381880t U

Oximes are less acidic than hydroxylamine

- NS DD Sob3, 55 000D B8 D e ) $9A &Y D

Sodium borohydride does not reduce carboxyl group
507818 D00 T Jdobo 58 FEE S0ECEIN DS

D1 alkyl cadmium 1s considered superior to Grignard reagent for the preparation of a
ketone from an acid chloride
28 830 §06 Adod $6rD Jired Dot Af T6 TGS ol & ¥E) S

. sé oo A &) SJGMT BT

AP EAPCET 2021



